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QUESTION 1

An often used best practice is to define User Stories according to the acronym `INVEST\\'. The `I\\' of INVEST means
Independent. Suppose that you have a User Story that is not Independent. 

What is the consequence of having dependent User Stories? 

A. You do not have enough knowledge to build the item. 

B. You must work on the item together with another Scrum team. 

C. You need more people to build the item. 

D. You will not be able to order them based on their business values. 

Correct Answer: D 

 

QUESTION 2

A large product team features six different teams having ten members each, working on a project that involves four high
level features. 

How many Product Backlogs should the team have? 

A. 1 

B. 4 

C. 6 

Correct Answer: A 

 

QUESTION 3

From which sport is the term "Scrum" and much of the terminology derived? 

A. Kick boxing 

B. Polo 

C. Rugby 

D. Soccer 

Correct Answer: C 

 

QUESTION 4

A Scrum team failed to meet the Sprint objectives. One of the key members of the team fell ill and was away for two
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days right at the beginning of the four week Sprint. 

What is the most likely reason that the team did not meet the Sprint objectives? 

A. The Product Owner is unable to prioritize. 

B. The team is lacking skills. 

C. The team did not plan the Sprint effectively. 

D. The team is over-worked. 

Correct Answer: C 

 

QUESTION 5

What is an information radiator? 

A. A physical display for the team that gives information about the current status. 

B. A tool that automatically sends relevant information to the Product Owner. 

C. A status report or dashboard that is maintained by the Scrum Master. 

Correct Answer: A 
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